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as well as rivets with defects summarized below:

th type B defect, and 4 rivets with type A and type
he probability that it has exactly one defect?

1. i\ b?x of 500 rivets contains good rivets
30 rivets with type A defect, 15 rivets wi
B defects. A rivet is chosen at random, whatist

(7a.) 0.074
%0.082 s A’ 8 f'(/')/)KQﬂ"[)(ﬁ/ﬂK)
d

plac 45975 2o + Yao = feo
- = 0~07Z/

urchaser decides to buy 5
he probability that the first

ill be good?

0.991
. 0.098
0.902

e

Suppose that a box contains 10% defective microchips. Ap
microchips. Assume that the box has 30 microchips. What is t
two microchips in the sample will be defective and the last three W

o Vs & B0 = 3 o/&/é&%’:/e &/,/‘)_f

!\J

@ 0.00616 5/
b. 0.0616 ' 5 o
){D /:) éj 7 3 ’ 'l . P
oo P0G 6Gs) = 750 1 o
d. 0.0729 : o ? ).2? 27
e. 0.00729 = ot p /é
3. Suppos€ that B1 and By are mutually exclusive and complementary events, such that
P(By) =6 and Consider another event 4 <uch that P(4 | B1) —2and P(4|B2) = > Find
@ o r4) PCE 0A)+p (B~ 4)
" 0.240
C 0 800 = , 6 )( . )_
d 0.625 ’5)0 2:7‘," L/x‘ =
e. 0.200 (ﬁ/) 'P X
/) f three elements: ch(’)dc zg-r?smil and decode.
ansists of thre : \ -
4. 2 cncryplion-dccr)’l’“on 53’5;/0 me t(}):::srlnessaﬂe proccsscd. lransmissiun error occurs 1n ] o
A s oo o ()d ) r occursain 0.1% of the messages. Assume the errors
decode €rro . ‘
. " e probabilm f the message with no error
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5. Studies h
ave shown that X , the number of refrigerators sold per week has the following

probability distribution

f?v) 0(())5 _'é oi : 0| ?
- : ¢ SO 45 0. | |
The mean of X is cqual to: : 'S 0'02_,] |
A 3.5 ,ééztf)():;,zfﬂ/x) :

I

7 2.0
S 25 _ e b o pPo 70 A0

e. Cannot be found -
= ¢

ts consider calculus an

d 24 students from the
23 or

all Calculus | studen

d independently selecte
80%, find the pl‘Ob’lbIlllV of observing 2

xciting subject.

6. We believe that 80% of the population of
exciting subject. Suppose we randomly an
population. If the true percentage is really

more of the students who consider calculus to be an e

N\ 033 77:‘)?) - 0¥
Y f 5) = /,( /13)7”f(0(’ 24)

c. 0.0283
:. 33232/%)@)( Sase

£ 50 flat screen TVs

jon. 3 TVs are seluch.d at ran
[ s pass the ]

of which 6are¢ defective.

7. An elec dom from the shxpm ent for
During the quali inspection. What is the

testing. T he slup

probz ability thatt

e )
— I O Y -

(o) 06757 /\/ £6°) | .
b, 0.6815 : /%!/ - Il \“, /
¢ 0.0017 ((/ 3) - .
4. 0.001 A 7 =13

e, 0.083 A
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8. A specific automotive pa i i inits i
part that a service station stocks in its inventory has an 8% chance

of being defective. Suppose many

each week. What is the probability that the fourth part retrieve
defective?
@ 0.0623
! oo (X= /o)
c. 0.0378 / X= 4/ / ( !
d. 0.0064
e. 0.3244 — 037( ?2-) 6'5423‘

The manager of a movie thea

at the concession stand is Poisson
tes. [fthe servers can

per 10 minu

is the probability that a

custol

ter has determined that the distribution 0

distributed wit
accommodate 3 ¢
il have to wait for service?

ustomers in a 10-mi

mner wi

f customers arriving
h a standard dev:atlon equa

fo 7!

cars come into the service station needing this part
d from stock is the first

a

| to 2 people
period what

uJ2d =

o

v 0.5665
2o 7T ”,/’ﬂ 35
4 0.1954 % [ /C, é yzg ,f& 6 ;/——-433»( |
e. 0.8046 | & 4 g 1

ain type of plastic connector has the

at the width, in mm, of a cert

10. Experience has shown th

following probablllty density function
50y 048<y<052
f o) :{ 0 otherwwe
ability that the width of the connector is no less than 0.517

What is the prob

a. 0.5150 S 5 & s
b, 0.4983 f 5}1]51/] 2.5 ((5 29,. (;/))
c. 0.0431
0.2575 5575
0 2575
tools reveals that 60% of all

isfaction W ith management t0

ork teams as a management tool. Suppose 70 managers

anagers * satl
d. What is the

11. One study on m

o elf- directed W
i qu uijcofnly in the Kingdom of Saudi Arabia ar¢ interviewe
selected F7 37 use self- directed \\ork teams as a management tool?
robability that more than 2 Jeen ] - 4 .
(-5. 0.8643 = /O ) =g ¢ = 7,/ — ) X
" 0.1357 — i
c. 0.8888 /)(/‘(7_57; 3/ é;ﬁ/ﬁ/;/@,(,;
d. 0.1112 - ) i oo
&
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. s 14y , . l b

@0.2231 /‘Q: 2 hour$ f()(?j /wc’ff)
Ry ~54 - g
09698  — /0()( ,/:S);/, /%6 )—; /

c.
d. 0.7769
e. 0.1353
: = 62258
¢ disk exposed 10 corrosive gases
0 hours. Determine the

‘/
has a — 0>

13. Assume that the life of a packaged magneti
p=0.5and the mean life is 60

Weibull distribution with
ity that a disk lasts at least 750 hours. /\7 3 - )
- can = 689 "Joﬂé)

probabil
2. ) 0.205 N‘:’J . o z
oz M X2 S 7 1.
09179 =/~ / ’(x S’) °
R S I A ze
e. 0.3269 ~ — (7(%0 o) é/»:)’b"/V 0 2}5’7
= = 0 4°

sample of Jong-distance phone calls made

ions in minutes ofa
one long-distance carrier.

14. The following
eported bY

within the conti

Tin &L__ng__y_ ﬂ};lg;):__}f—_/;ﬁ_ql;ﬂlﬁl:ﬁ
37 2T

10 but Jess than 15 0.15 -3 ‘f-
7 ¢ 7

15 but less than 20 0.10 [ ; é

20 but less than 25 0.07 7 37r,> i} ?

25 but less than 30 0.07 5

30 or more e /
] [0°
many of them would have lasted less than 2> minutes oF at

s were sampled, how

1f 100 call
nutes OF more-

least 30 mi
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15. Health care issues are receiving much attention in both
sociologist recently conducted a survey of citizens over
is too high to qualify for Medicaid and have no privat
uninsured senior citizens were as follows:

60
74

Given: sum(x) =

(D) 3

b. 37

c. 35

d. Around 2

e. None of the above.

academic and political arenas. A
60 years of age whose net worth
h insurance. The ages of 25

Apm) A %@3

73

e healt

v /M)
751 27

64 65 66 68 68 69 70 73

6l 62 63
75 76 76 81 81 82 86 & 89 90 92(@ g %;}ﬂ
, sl
1851, sum(x?) = 139327 =

of the uninsured senior

Standard Deviation (S-D) and the third Quamlc of the agcs
citizens are: P ’
Q D =9.74and Q3 =815 years ZX (;J i ;,%;7
g.D = 94.96 and Q3 = 65.5 years
. SDh= 974andQ:—730)ears 7[/({ &
d. S.D=94 96 and Q3 = 74.4 years
e. SD= 47.74 and Q3= |16 years

:tribution shows the lifetimes of batteries (in hours).

owing frequency dis

16. The foll
—”/’_‘/ ~ -
(000, 100) 7 w B
100200 Jff—”"”l},zﬂif X = lfe22
= . /fo
(200, 300) 12 M 2
S
[300. 400) /94/}&/‘%/3///, | -
4 ' g’c : / XU o P 2 7
[400. 500) J// f,/',,_,,#,_*l } _
So //20°
3 rcSpCCli\ ely: ) ~
: ate meal and mode lifetimes are ﬂ >
I'he .’.lpPrO.\'llll.llclk k// o -
220 & 150 hour / "“’ ol
) 250 & 300 hours
c‘ 20 & - 5() hours
d. 300 & 200 hours-
c‘ .20() & 130 hours-
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